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ECONOMICS
’ Full Marks : 80
Pass Marks : 24 |
: Timé : Three hours
The ﬁgures in the margin indicate full marks
. Jor the questwns
PART-A- F -9™) .
Q. Nol(l vz)carneslmarkeach . 1x6 = 6
Q. Nos 2 (i-vi) carries-2 marks: each C . ox6 =12
Q. Nos. 3 -6 carry 4 marks each . S 4x4' =16
Q. No. 7 carries 6 marks . -~ - - 6x1 = 6
S . . Total =40
| PART-B (¥ -%d)
Q No. 8(1 m)camesl mark each | 1%6.= 6 .
Q. Nos.. 9 (i~ - vi) carries. 2 marks each o 2x6=12
Q. Nos. 10 ~ 13 carry 4 marks each s 16
Q. No. 14 carries 6 marks . o . ex1= 6
| -  Total = 40 -

Total (PART A & B): 40+40=80 v
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| PART-A /F-9
1. -Answer the followmg . . : - o 1x6=6
'(i) Define personal dlsposable income.

fere acany SR e Tt L
(i) What is the primary ob]ectlve of commercial bank 7

R @ 2l Sy e

(i zu) Net indirect taxes are estlmated as —

B sirar = IR —
(@ . Indirect taxes + Subsidies
AR I+ Y
b) Subsidieé - .Indirect‘takes ‘
ALY - AT 39 ‘
{c)- Indirect taxes - SubSIdleS 3
| ARE I -GG
(d) Both (b) and (c)
- HERQTEE '
: . (Choose: the correct option)
| . (9% R R[5 71)
. (iv) Give two examples of capital expendlture of the government budget
WWW@W@Wqu s 5

(v) What type of budget should the government prepare durmg mﬂatlon ? |
C EreIR TS HRRICY (RCKEETE TCED SRE IR A 2

"(0i) Inorder to encourage investment in the economy, the Central bank will
‘adopt which of the following measures ?

w@%ﬁﬁwﬁswﬁwﬁmw @@if Sy @mmqw

ﬁfﬁﬁ o - | . | /
(a) Increase cash reserve ratio - '
el TR ST I PR
() Reduce cash reserve ratio
ol AT ST g BRI

33T ECON N . [2]



A(C)" | I,n_creése bank rate

RE W@ IR
() None of the above .
eI GO T - .
’ (Chioose the correct option)
e (w5 Res [619 37)
2. AhsWer the foilowing'; 2%x6=12 |

(i) - Afirm produces goods of Rs.500 per year and uses infermediate goods
of worth Rs.250. The cost of depreciation is Rs.20 per year. Calculate
: gross value addition and net value addition by the firm. g ‘
42 2D TR 500 TR T BeeAWH A Wi TR AT 250 T T
L TS T TR < | T 2R S #{R 20 5 T, (90% AfSIRIT
S RIS S e 3 R A L
| ' OR/=IA
What do you understand by the problem of double counting in the -
context of national income accounting ? ‘ ‘
| GO g.,@ﬁﬂﬂ?ﬂﬁ%ﬁ'mﬂquﬁrﬁﬁ?ﬁ? -
(D) Calculate national income with the following data. -.
| oo SR RIS TS SR AN A |
GDP at market price’; Rs.830 crore -
~ 3G 7S GDP': Rs.830 il
Depreciatioh : Rs.120 crore:
| SRS Rs120 A0
" Net indirect taxes : Rs.70°crore E
fieb =Iar® 39 ¢ Rs.70 @b
 Net factor income from_ abroad : Rs.40 crore .
R oAl e erAn S ¢ Rs.40 b
o ~ OR/®%T
Differentiate between nominal GDP and real GDP.
2 GDP % #ig® GDP 3~ f7ai | |
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. (iii) Write fwo objectives of government budget.
(iv) Write two differences between revenue- expenditure and capital
expenditure. . ‘ ‘ S SN
TR A R AL |
S ~ .OR/Z13q .
- What is revenue receipt ? How it is different from capital receipt ?
| FOR AR R 2 F TRt 2T ofat o sje e
(v) - What is deficit demand ? Write one cause of deficit demand.
ot /G SifEet 2 B iy el B w1 |
S - OR/@3qt :
‘What are'the factors that affect investment demand in an economy ?.
s Rt s areiie w1 o o Rl -
. (vi) Write'two merits of fixed exchange rate, '
- TERPwew prRa ey |
‘ -~ OR/93t
Define spot and forward exchange rat'é. ,

R elew s 79 wys, TARS! ZTE @A |

\

3. Explain the expenditure method of calculating national income. 4
SIS 13 - SVI 3 LB 51 30 | T
| | or/mem
Discuss the circular flow of pat'ional»income ind two sector economy.

-ﬁ%w@mmeamWWy - )}

4. Discuss the functions»ofmpney. o o 4
AR R S 1| T ‘ '

5. - There is a plan to incréase national income from Rs.1500 crore to Rs.4000
" crore. If MPC = 0.6, then what should be the change in investment to achieve
'~ the goal ? - o g
WS 27T WIS W Rs.1500 (ifE B =1 Rs 400 IS Sltet g% =R
“ifesmt 391 ez | IR MPC =0.6 X, (OF 3 w7y T 2@ AR Ry
“ARster o RiAGIR emem 23 ? ' : |
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) ‘ : -~ -OR/ WWT ~ :
What is margmal propen51ty to consurne (MPC) and margmal t
save (MPS) ? Show that MPC+MPS=1 : prop;z:;g_z L
#lf5® Bofron! 2ol (MPC) S 2R steew aa«m (MPS) for ot |

- MPC+MPS=11 *

6. Outhne how equlhbnum exchange rate is determmed in free market system

f ‘ ) 4
: wwwmﬁmmﬁwmmml : |
| ~ OR/T% |

- . Write a note on ‘balance of payment'.

R ﬂﬁ?ﬁ«wwﬁﬂmcﬂﬁc‘ﬁmﬁw

7 Discuss the workmg of mvestment multlpher Wlth example | 6
RiAcamt @mmeWwww| : | |
- OR/9%4qt

- Explain dlagrammahcally how equilibrium level of employment and income
is determined in a two sector economy with the concept of aggregate demand

and aggregate supply.
fave wﬁﬁ'swmfﬂasmfimmm@as cwa emam @w'@wmw

Wﬁmﬁﬁmﬁmqwamﬁfﬁmww|

: PART-B / ?I—vsm‘ |
8. . AhsWer the. following 1x6mt .
- () Whatis poverty lme 2 S e .
' wifRe TR e T

(ii) - Name any two Navaratna industries.

WWWWﬁmml

(iii) Whois known as the architect of econornic plannmg in Ind1a ? |
D oerde St AR et 3o i A T e .
(iv) What do you understand by jobless growth? -

BrariRER b 3 B @

Name two unconventional sources of energy.

@) ﬁ-‘fwwmsf@ T am T%ran I
- 18]  Contd
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(vi) Wthh of the followmg is a cause of ozone layer depletlon ?2
| OO (RPN O BT T (IR S
' (a)- " Noise pollution / *™ 31"1?1"1‘
(b')' Air polluuon / I A
(c) Water pollution / && L]

d) None of the above / GITF OIS ?I'Q?I L .
, (Choose the correct option)

| (% R [or )

9. Answer the followmg L o 2><6=12-
(i) Write two ob]ectlves behind mfrastructure development in Ind1a by the '
_ .British government during Colonial rule.

o T R SO R e 7 A

L |
(ii) -Write two objectives of NITI Aayog
NITI SR ,,r(t'r et Bt
R OR/@%I -

R Write two factors that necess1tates the mtroduc’aon of economic reform
in Indla .
TIRETIT LA FAHRE eimr@ﬁﬂm 75rRe f%m |

~ (iti) Correctly match the two sides of the following table
- .WEWWMWW@WW o
Country = .= - Rank Based on Human Development Index 2022
o ST 2002 5 R e e fofee g
India/ol ¥ . | \ 79 oo
China/SW E I
Pakistan/ R .
 Bangladesh/3RACR T ()
~ (iv) Write the full from of AYUSH | S
AYUSHaﬂvfzﬁv{%am - o
OR/®3 d |
. What do you understand by medical tourism ?
B oo o dg@me ‘
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10.

11.

12.

13.

14

337 ECON

" o[g79 L AT 1

. () Writeone pos1t1ve and one negatlve 1mpact of globalisation in the Indlan o

economy.

PIeY wdIfoS R 5P T BT AN o B |
(vi) Write fwo differences between formal and informal sources of rural E

credit. . _

mwww@rﬁzﬁmwwm%m zﬁrvnaﬁqﬁw
Write the features of the Industrial Policy, 1956. | 4
1956mfmﬁ¢fﬁf‘m CMRTR ol | |

- OR/=3Y -

Bneﬂy discuss the problems faced by the Indian agriculture sector in pre-
reform period.

WWWW?&W?W% mww\mﬁwwu

Discuss four important causes of poverty in India. - .4
ST TRESH 5IR5Y 27 Pl S 34 | -
Write a note on condition of health infrastructure in India. 4
Wwwﬁwﬁawﬁm <f6 Coret forait | | '

- OR/®%qt .
‘What s workforce ? Write the causes of low workforce parhc:lpatmn rate of .
female as compared to male, - " 1+3=4

e 59 wwmaﬂ%wmﬁwmﬁw CRRIT IR R [

Write a.comparative note on the contribution of agriculture, industry and-
service sectors to the respective economies of India, China and Pakistan, 4

O, b W% AfRgig S m@ﬁzmasﬁ Tomisi e mﬂeivmm

39T oI Nk (OIe! oo 31 |
 OR/a%
Briefly descrlbe the path of economic development of China. -

a«w@mwwmmmw

How is human development a broader term as compared to human capltal ?

- What are the main problems of human capital formationin India ? 3+3=¢

Wﬁwwwmmmﬁww%qﬁwmvmm:ﬁ@

OR/ WW
gricultural activities can be diversified. * 6 :

Discuss hoW a /W‘i { ﬁiﬁ? 9ﬂﬁ |

gl R
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